Item	Quantity	Amerisource	total	Buckeye	total	Caselots	total	Garvey's	total	HP (PCS)	total	Inlander	total
Group # 1													
Large Waste Liners; 40x46, 1.5MIL, 100/cs	800	\$18.30	\$14,640.00	\$14.21	\$11,368.00	\$16.90	\$13,520.00	\$33.89	\$27,112.00	\$15.26	\$12,208.00	\$16.21	\$12,968.0
Medium Waste Liners; 33x39, .9MIL, 250/cs	400	\$16.40	\$6,560.00	\$14.08	\$5,632.00	\$13.90	\$5,560.00	\$33.59	\$13,436.00	\$29.15	\$11,660.00	\$20.39	\$8,156.0
Small Waste Liners; 24x32, .5MIL, 500/cs	250	\$19.70	\$4,925.00	\$11.45	\$2,862.50	\$14.00	\$3,500.00	\$22.35	\$5,587.50	\$20.43	\$5,107.50	\$12.53	\$3,132.5
Compostable Green bags; 40x46 250/cs			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.0
Recycle Marker Blue bags; 40x46 250/cs			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.0
Group # 2													
Floor Finish; 5 gal pail/box	350	\$62.50	\$21,875.00	\$57.99	\$20,296.50		\$0.00	\$75.05	\$26,267.50	\$45.20	\$15,820.00	\$58.99	\$20,646.5
Floor Stripper; 5 gal pail/box			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.0
Group # 3													
AA Battery, ea (alkaline only)	400	\$0.19	\$76.00		\$0.00		\$0.00	\$0.17	\$69.20	\$0.29	\$116.00	\$0.23	\$92.0
AAA Battery, ea (alkaline only)	400	\$0.19	\$76.00		\$0.00		\$0.00		\$64.80		\$140.00		
PV6 vacuum bags 10/pkg + filters	30		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		
CV38 vacuum bags 10/pkg + filters	40		, \$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$698.0
TV2 vacuum bags 10/pkg + filters	30		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$717.3
Group # 4													
X-Large Vinyl Gloves, 10pk/cs, 100	50	\$30.00	\$1,500.00	\$19.80	\$990.00	\$19.80	\$990.00	\$34.89	\$1,744.50	\$24.70	\$1,235.00	\$19.84	\$992.0
Large Vinyl Gloves, 10pk/cs, 100	40	\$30.00	\$1,200.00	\$19.80	\$792.00	\$19.80	\$792.00	\$34.89	\$1,395.60	\$24.70	\$988.00	\$19.84	\$793.6
MediumVinyl Gloves, 10pk/cs, 100	20	\$30.00	\$600.00	\$19.80	\$396.00	\$19.80	\$396.00	\$34.89	\$697.80	\$24.70	\$494.00	\$19.84	\$396.8
XL "Rubber" gloves, 1pr	30		\$0.00		\$0.00		\$0.00	\$13.50	\$405.00	\$0.46	\$13.80	\$0.46	\$13.8
L "Rubber" gloves, 1pr	20		\$0.00		\$0.00		\$0.00	\$13.50	\$270.00	\$0.46	\$9.20	\$0.46	\$9.2
M "Rubber" gloves, 1pr	10		\$0.00		\$0.00		\$0.00	\$13.50	\$135.00	\$0.46	\$4.60	\$0.46	\$4.6
S "Rubber" gloves, 1pr	10		\$0.00		\$0.00		\$0.00	\$13.50	\$135.00	\$0.46	\$4.60	\$0.46	\$4.6
XL Canvas work gloves, 1pr	50		\$0.00		\$0.00		\$0.00	\$0.64	\$32.20	\$0.48	\$24.00	\$0.51	\$25.5
L Canvas work gloves, 1pr	20		\$0.00		\$0.00		\$0.00	-					\$10.2
M/S Canvas work gloves, 1pr	10		\$0.00		\$0.00		\$0.00	\$0.64	\$6.44	\$0.45	\$4.50	\$0.51	\$5.1

Item	Quantity											
Group # 5												
Peroxide Surface Cleaner (marauder)	80	\$0.00	\$82.08	\$6,566.40	\$75.00	\$6,000.00		\$0.00	\$58.74	\$4,699.20	\$62.69	\$5,015.20
Disinfectant Surface Cleaner (lemon quat)	80	\$0.00	\$64.98	\$5,198.40	\$66.00	\$5,280.00		\$0.00	\$32.63	\$2,610.40	\$56.59	\$4,527.20
Floor Cleaner (true 7)	60	\$0.00	\$49.44	\$2,966.40	\$68.00	\$4,080.00		\$0.00	\$30.74	\$1,844.40	\$72.39	\$4,343.40
Floor Scrubber (tenacity)	80	\$0.00	\$55.56	\$4,444.80	\$66.00	\$5,280.00		\$0.00	\$43.70	\$3,496.00	\$45.89	\$3,671.20
Glass Cleaner (star spray)	20	\$0.00	\$85.98	\$1,719.60		\$0.00		\$0.00	\$45.70	\$914.00	\$58.19	\$1,163.80
Carpet Prespray, (H2O base - 6/1qt RTU per)		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	\$10.45	\$0.00
Carpet Extraction (jet stream)	10	\$0.00	\$88.20	\$882.00		\$0.00		\$0.00	\$58.74	\$587.40	\$62.69	\$626.90
Clorox Green Works Wipes, 62-6/cs, # 30380	200	\$28.70 \$5,740.00		\$0.00		\$0.00	\$29.26	\$5,852.00	\$28.26	\$5,652.00	\$22.79	\$4,558.00
Toliet Bowl Cleaner Soy Based; 6qt/cs	50	\$0.00		\$0.00		\$0.00		\$0.00	\$13.88	\$694.00	\$14.45	\$722.50
Spartan Bio-renewables; 12qt/cs #3530-03	40	\$36.20 \$1,448.00		\$0.00		\$0.00		\$0.00	\$27.76	\$1,110.40	\$28.90	\$1,156.00
Foaming Luxury Hand Soap (GoJo 5165)	400	\$43.20 \$17,280.00	\$21.48	\$8,592.00	\$22.70	\$9,080.00	\$47.34	\$18,936.00	\$21.21	\$8,484.00	\$18.69	\$7,476.00
Alcohol Free hand sanitizer; 8-12oz, 12/cs	100	\$48.00 \$4,800.00		\$0.00	\$55.00	\$5,500.00	\$44.75	\$4,475.00	\$53.56	\$5,356.00	\$48.99	\$4,899.00
Vomitus Cleanup powder; 6/cs	50	\$0.00		\$0.00	\$30.00	\$1,500.00	\$45.89	\$2,294.50	\$32.23	\$1,611.50	\$27.99	\$1,399.50
Group # 6												
Spray trigger for 32oz bottle	100	\$0.39 \$39.00		\$0.00		\$0.00	\$0.52	\$52.00	\$0.46	\$46.00	\$0.33	\$33.00
32oz Spray Bottle	100	\$0.70 \$70.00		\$0.00		\$0.00	\$0.69	\$69.00	\$0.53	\$53.00	\$0.47	\$47.00
Extendable handle Lambswool Duster	50	\$7.50 \$375.00		\$0.00		\$0.00	\$5.70	\$285.00	\$5.46	\$273.00	\$7.17	\$358.50
Replacement heads for duster	100	\$8.30 \$830.00		\$0.00		\$0.00	\$5.19	\$519.00		\$0.00	\$3.05	\$305.00
Value-Plus Cone Bowl Mop, # UNS170	50	\$1.50 \$75.00		\$0.00		\$0.00	\$1.20	\$60.00	\$1.41	\$70.50	\$0.91	\$45.50
1 1/2" stiff putty knife w/ blade edge	100	\$5.00 \$500.00		\$0.00		\$0.00	\$3.14	\$314.00	\$4.69	\$469.00	\$0.98	\$98.00
Upright Angle Broom w/nylon bristle	50	\$7.95 \$397.50		\$0.00		\$0.00	\$6.55	\$327.50	\$5.31	\$265.50	\$4.30	\$215.00
Lobby type dust pan	20	\$14.00 \$280.00		\$0.00		\$0.00	\$13.82	\$276.40	\$9.50	\$190.00	\$7.07	\$141.40
Urinal Screens 10/cs	50	\$19.20 \$960.00		\$0.00		\$0.00	\$9.65	\$482.50	\$15.42	\$771.00	\$5.87	\$293.50
Synthetic loop end finish mops	36	\$7.50 \$270.00		\$0.00		\$0.00	\$8.08	\$290.88	\$6.15	\$221.40	\$3.98	\$143.28
18" Applicator finish mop	20	\$14.10 \$282.00		\$0.00		\$0.00	\$17.99	\$359.80	\$11.90	\$238.00	\$6.97	\$139.40
Barrel Caddy Bag	20	\$41.00 \$820.00		\$0.00		\$0.00	\$41.51	\$830.20	\$29.31	\$586.20	\$27.95	\$559.00
Rubbermaid Applicator system (Complete)	10	\$0.00		\$0.00		\$0.00	\$314.99	\$3,149.90	\$230.53	\$2,305.30	\$212.00	\$2,120.00

Item	Quantity												
Group # 7													
Roll Paper Towels; 7 1/2x800, 6/cs,	600	\$28.00	\$16,800.00		\$0.00	\$17.00	\$10,200.00	\$37.65	\$22,590.00	\$18.72	\$11,232.00	\$16.05	\$9,630.00
Toliet Tissue; 4.5x4.5, 2ply, 96/cs	400	\$46.00	\$18,400.00		\$0.00	\$28.00	\$11,200.00	\$59.99	\$23,996.00	\$30.31	\$12,124.00	\$29.09	\$11,636.00
Group # 8													
Natural Burnishing Pad, 5cs, #3500	40	\$39.00	\$1,560.00	\$14.25	\$570.00		\$0.00	\$40.50	\$1,620.00	\$23.48	\$939.20	\$11.69	\$467.60
20" Black Stripper Pad, 5cs #7200	40	\$41.00	\$1,640.00	\$14.25	\$570.00		\$0.00	\$31.99	\$1,279.60	\$24.16	\$966.40	\$11.69	\$467.60
Doodlebug pad holders	20		\$0.00		\$0.00		\$0.00	\$22.49	\$449.80	\$4.22	\$84.40	\$3.65	\$73.00
Doodlebug Scrub 'n Strip Pad, <b>each</b> # 6472	200	\$2.10	\$420.00		\$0.00		\$0.00	\$1.95	\$390.00	\$1.39	\$278.00	\$0.56	\$112.00
Doodlebug Deck Brush	20		\$0.00		\$0.00		\$0.00		\$0.00	\$12.16	\$243.20	\$4.75	\$95.00
Scotch-Brite Heavy Duty Scrub Sponge, 20/cs	50	\$24.00	\$1,200.00		\$0.00		\$0.00	\$18.30	\$915.00		\$0.00	\$11.63	\$581.50
20" Sand Screen 80 Grit 10/cs	40	\$65.00	\$2,600.00		\$0.00		\$0.00		\$0.00	\$90.64	\$3,625.60	\$52.99	\$2,119.60
Item	Quantity	Amerisource	total	Buckeye	total	Caselots	total	Garvey's	total	HP (PCS)	total	Inlander	total
			=		\$24,640.10		=		\$4,609.00		\$763.10		\$56,783.98
Any item where lowest bid was not taken is for a	preferred	d product											
Paper products requirements were GreenSeal Ce	ertified an	d/or Ecol	ogo plus	dispense	r support	•							
Bulk Chemical products require dilution control s	oply and	support											

Janzimar	total	Kranz	total	Metro	total	NA Corp	total	Seaway	total	Supplyworks	total	Unique	total	Valdes	total	School Health* total
\$20.48	\$16,384.00	\$19.10	\$15,280.00		\$0.00	\$22.00	\$17,600.00	\$18.90	\$15,120.00		\$0.00	\$14.19	\$11,352.00	\$13.90	\$11,120.00	\$0.00
\$22.53	\$9,012.00	\$12.90	\$5,160.00		\$0.00	\$12.21	\$4,884.00	\$19.95	\$7,980.00		\$0.00	\$13.50	\$5,400.00	\$13.61	\$5,444.00	\$0.00
\$15.85	\$3,962.50	\$15.78	\$3,945.00		\$0.00		\$0.00	\$14.95	\$3,737.50		\$0.00	\$12.95	\$3,237.50	\$13.75	\$3 <i>,</i> 437.50	\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00	\$34.00	\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00	\$34.00	\$0.00		\$0.00		\$0.00		\$0.00	\$0.00
\$69.13	\$24,195.50	\$46.88	\$16,408.00	\$62.39	\$21,836.50	\$68.22	\$23,877.00	\$76.00	\$26,600.00		\$0.00	\$58.00	\$20,300.00		\$0.00	\$0.00
	\$0.00	\$31.83		<b>,</b>	\$0.00	\$56.52	\$0.00	<b>*</b> • • • • •	\$0.00		\$0.00	<b>,</b>	\$0.00		\$0.00	
	\$0.00	\$0.46	\$184.00		\$0.00		\$0.00	\$0.23	\$92.00	\$0.34	\$134.00	\$0.18	\$72.00		\$0.00	\$0.54 \$216.00
	\$0.00	\$0.43	\$172.00		\$0.00		\$0.00	\$0.23	\$92.00	\$0.37	\$147.00	\$0.18	\$72.00		\$0.00	\$0.54 \$216.00
	\$0.00		\$0.00		\$0.00		\$0.00	\$9.85	\$295.50		\$0.00		\$0.00		\$0.00	\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00	\$19.75	\$790.00		\$0.00		\$0.00		\$0.00	\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00	\$13.60	\$408.00		\$0.00		\$0.00		\$0.00	\$0.00
\$20.57	\$1,028.50	\$20.76	\$1,038.00	¢10.20	\$965.00	\$25.20	\$1,260.00	¢22.70	¢1 19E 00	\$24.20	\$1,710.00	\$22.00	\$1,100.00		\$0.00	\$27.90 \$1,395.00
-	\$822.80		\$830.40		\$772.00		\$1,260.00		\$948.00		\$1,710.00	-	\$880.00		\$0.00	
-	\$411.40	-	\$415.20		\$386.00		\$504.00		\$474.00		\$684.00	-	\$440.00		\$0.00	
Υ <u>20.</u> 37	\$0.00	\$1.50	-	Ŷ19.50	\$0.00	<i>Ş</i> 29.20	\$0.00		\$24.00	\$1.02	-	<i>Ş</i> 22.00	\$0.00		\$0.00	
	\$0.00	\$1.50			\$0.00		\$0.00	\$0.80	-	\$0.90	-		\$0.00		\$0.00	
	\$0.00	\$1.50	\$15.00		\$0.00		\$0.00	\$0.80	-	\$0.90	-		\$0.00		\$0.00	
	\$0.00	\$1.50	\$15.00		\$0.00		\$0.00	\$0.80	\$8.00	\$0.90	-		\$0.00		\$0.00	-
	\$0.00	\$0.55	\$27.50		\$0.00		\$0.00	\$0.80	\$40.00	\$0.87	\$43.50		\$0.00		\$0.00	\$0.00
	\$0.00	\$0.55	\$11.00		\$0.00		\$0.00	\$0.80		\$0.87	\$17.40		\$0.00		\$0.00	\$0.00
	\$0.00	\$0.55	\$5.50		\$0.00		\$0.00		\$0.00	\$0.87	\$8.70		\$0.00		\$0.00	\$0.00

\$110.64	\$8,851.20	\$50.60	\$4,048.00		\$0.00		\$0.00	\$54.00	\$4,320.00		\$0.00	\$56.50	\$4,520.00	\$0.00	\$0.00
-	\$8,780.00		\$4,048.00 \$1,364.80		\$0.00		\$0.00		\$6,400.00		\$0.00	-	\$3,984.00		\$0.00
	\$10,275.00		\$1,081.80		\$0.00		\$0.00		\$2,340.00		\$0.00		\$3,312.00		\$0.00
-	\$6,468.80		\$1,081.80		\$0.00		\$0.00		\$3,120.00		\$0.00		\$4,676.00		\$0.00
-	\$4,256.80		\$350.40		\$0.00		\$0.00		\$860.00		\$0.00	-	\$1,350.00		\$0.00
<i>\</i>	\$0.00	φ <u>1</u> ,.5 <u></u>	\$0.00		\$0.00		\$0.00	\$15.00			\$0.00	<i>\\</i>	\$0.00		\$0.00
	\$0.00	\$52.58	\$525.80		\$0.00		\$0.00	\$7.75	-		\$0.00		\$0.00		\$0.00
	\$0.00		\$4,908.00		\$0.00		\$0.00		\$5,200.00		\$0.00	\$25.25	\$5,050.00		\$0.00
	\$0.00	7	\$0.00	\$19.32	\$966.00		\$0.00	+	\$0.00		\$0.00		\$1,575.00		\$0.00
	\$0.00	\$29.14	\$1,165.60		\$1,036.80		\$0.00	\$32.80	\$1,312.00		\$0.00		\$1,518.00		\$0.00
	\$0.00	•	\$15,360.00		\$11,600.00	\$155.00			\$9,600.00	\$41.70	-		\$16,600.00		\$0.00
			\$10,758.00		\$6,788.00	•	\$0.00	•	\$0.00	•	\$0.00	•	\$0.00		\$0.00
	\$0.00		\$2,500.00	-	\$0.00		\$0.00		\$0.00	\$36.00	\$1,800.00	\$41.50	\$2,075.00	\$0.00	\$0.00
	\$0.00	\$0.58	\$58.00		\$0.00		\$0.00	\$0.55	\$55.00	\$0.53	\$53.00	\$0.57	\$57.00	\$0.00	\$0.00
	\$0.00	\$0.51	-		\$0.00		\$0.00	\$0.60		\$0.58		\$0.73			\$0.00
	\$0.00	-	\$274.50		\$0.00		\$0.00		\$437.50		\$0.00		\$1,137.50	-	\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	-	\$850.00		\$0.00
	\$0.00	\$2.65	\$132.50		\$0.00		\$0.00	\$0.75	\$37.50		\$0.00		\$60.00		\$0.00
	\$0.00	\$2.76	\$276.00		\$0.00		\$0.00	\$2.24	\$224.00	\$1.75	\$175.00	\$1.65	\$165.00	\$0.00	\$0.00
	\$0.00		\$347.50		\$0.00		\$0.00		\$247.50		\$0.00		\$335.00		\$0.00
	\$0.00	\$11.90	\$238.00		\$0.00		\$0.00	\$8.75	\$175.00	\$6.49	\$129.80	\$10.25	\$205.00	\$0.00	\$0.00
	\$0.00	\$11.75	\$587.50		\$0.00	\$14.75	\$737.50	\$8.00	\$400.00	\$19.50	\$975.00	\$9.50	\$475.00	\$0.00	\$0.00
	\$0.00	\$7.00	\$252.00		\$0.00		\$0.00	\$5.95	\$214.20		\$0.00	\$8.50	\$306.00	\$0.00	\$0.00
	\$0.00	\$13.22	\$264.40		\$0.00		\$0.00	\$4.90	\$98.00	\$14.62	\$292.40	\$15.35	\$307.00	\$0.00	\$0.00
	\$0.00	\$27.67	\$553.40		\$0.00		\$0.00	\$28.60	\$572.00	\$32.40	\$648.00	\$39.85	\$797.00	\$0.00	\$0.00
	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	\$299.00	\$2,990.00	\$0.00	\$0.00

	\$0.00	\$17.27	\$10,362.00		\$0.00	\$17.16	\$10,296.00	\$21.80	\$13,080.00		\$0.00	\$18.85	\$11,310.00		\$0.00		\$0.00
	\$0.00	\$34.66	\$13,864.00		\$0.00	\$29.42	\$11,768.00	\$34.00	\$13,600.00		\$0.00	\$29.50	\$11,800.00		\$0.00		\$0.00
	\$0.00	\$26.55	\$1,062.00	\$12.60	\$504.00		\$0.00	\$18.90	\$756.00	\$18.05	\$722.00	\$12.89	\$515.60		\$0.00		\$0.00
	\$0.00		\$1,092.00		\$494.40		\$0.00		\$756.00		\$678.00		\$515.60		\$0.00		\$0.00
	\$0.00	\$15.97	\$319.40		\$0.00		\$0.00	\$8.00	\$160.00	\$15.25	\$305.00	\$9.30	\$186.00		\$0.00		\$0.00
	\$0.00	\$30.25	\$6,050.00		\$0.00		\$0.00	\$2.40	\$480.00	\$4.10	\$820.00	\$0.54	\$108.00		\$0.00		\$0.00
	\$0.00		\$678.00		\$0.00		\$0.00		\$0.00		\$0.00		\$95.00		\$0.00		\$0.00
	\$0.00		\$1,575.00		\$0.00		\$0.00				\$890.00		\$625.00		\$0.00		\$0.00
	\$0.00	\$105.13	\$4,205.20		\$0.00		\$0.00			\$118.90	\$4,756.00	\$49.50	\$1,980.00		\$0.00		\$0.00
Janzimar	total	Kranz	total	Metro	total	NA Corp	total	Seaway	total	Supplyworks	total	Unique	total	Valdes	total	School Health*	total
	=		\$553.40		\$3,159.80		\$4,884.00		\$839.00		\$129.80		\$2 <i>,</i> 088.00		\$15,420.00		
											Total =		\$ 113	3,870.18			